
 

 

 

 

 
 

 

 

Distances et superficies       

1 ha = 2,471 acres = 2,925 arp² =  10 000 m² = 110 889 pî² 

1 acre = 1,184 arp² = 0,405 ha = 4 046,0 m² = 43 560 pi²  

1 arp² = 0,845 acre = 0,342 ha = 3 418,9 m² = 36 800 pi²  

1 km = 1 000 m = 0,6 mille = 3280,8 pi = 17,1 arpents 

1 mille = 1,6 km = 1 600 m = 5280 pi = 28 arpents 

 

Volumes       

1 corde 4' = 4' x 4' x 8' = 128 pi³ 

 1 corde 8' = 4' x 8' x 8' = 256 pi³ 

 1 corde 4' = 3,625 m³ app = 2,4 m³ solide 

 1 corde 4'/acre = 3,625 m³ app/acre 

  1 corde 4'/acre = 2,471 cordes 4'/ha 8,96 m³ app/ha 

 1 corde 8' résineux = 7,25 m³ app = 850 pmp =  1,8 corde 4' 

1 corde 8' feuillus = 920 pmp feuillus 

  1 mpmp = 1,18 corde de 8' résineux = 8,53 m³ app 

 1 tonne métrique = 2 202 lbs = 1000 kg 

 1 tonne = 2 000 lbs = 908 kg 

 1 gallon = 4,55 litres 

  1 livre = 0,45 kilogramme 

   


